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1L |88 28— 41 38 79 11.0 68.0

261 & i&Ah 40 41 81 11.0 70.0

ML MrTzR H 41 43 84 12.0 72.0

A RA ThiE 41 40 81 8.0 73.0

541 /M1l {%BH 38 43 81 8.0 73.0

64| TFE M= 44 40 84 10.0 74.0

ML |EE B 41 41 82 8.0 74.0

8fi|HH H=E 41 46 87 13.0 74.0

Ofir |#B)Il  E#2 43 40 83 8.0 75.0
1045z | BB %% 44 43 87 12.0 75.0
M FXx —5 42 44 86 11.0 75.0
1261 | K&t KB 41 43 84 9.0 75.0
13 &R BKE 39 42 81 6.0 75.0
1446 %O Fi#d 39 43 82 7.0 75.0
1541 | 2H #HZ 40 44 84 9.0 75.0
164z | HII A 44 44 88 12.0 76.0
17462 1lLA 1B 43 43 86 10.0 76.0
184|850 HBAR 44 46 90 14.0 76.0
1961 FH & 40 43 83 7.0 76.0
204 | B ZH|E 47 44 91 14.0 77.0
214 |1l FBER 46 45 91 14.0 77.0
2241 |4kl & 43 46 89 12.0 77.0
234z | )11 Eth 46 45 91 12.0 79.0
247 | Hif 44 47 91 12.0 79.0
2541 Hep & 41 45 86 7.0 79.0
264 F £ FIA 41 48 89 10.0 79.0
2761 |7 = 45 46 91 11.0 80.0
286% (4B —#4 45 48 93 13.0 80.0
AL VAR =P = 44 49 93 13.0 80.0
0L =H EFF 42 48 90 10.0 80.0
L |FRZFE  FH 47 41 88 7.0 81.0
324 |FUE =T 49 45 94 13.0 81.0
I |ER FE 49 46 95 14.0 81.0
M44I|BE IEA 44 43 87 6.0 81.0
B4ELIE BE 45 51 96 14.0 82.0
364z|ix FIE 47 47 94 11.0 83.0
KYETAE==F 5 N ) 47 51 98 14.0 84.0
B FA KIE 51 46 97 12.0 85.0
AR & 47 47 94 7.0 87.0
A04% | ABIR 5 49 48 97 9.0 88.0
AL R BZ 50 51 101 10.0 91.0
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